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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

Question numbers 1 to 10 carry 1 mark each.

1 N, 1
Product of x—; x+; X +x_2 is:

1
A) ¥+ 7
(A) «x A

1
© 3

Zero of the polynomial p (x) where p (x) = ax, a#0is:

(A) (B) a © 0

Heron’'s formula is :

(A) A=\/s(s+a)(s+b)(s+c)
B A=Js-a6-bE-0
© A=\/s(s—a)(s—b)(s—c),s=a+b+c

(D) A=\/s(s—a)(s—b)(s—c),2s=a+ b+ ¢

Point (0, 4) lies :
(A) InI quadrant (B) On x axis
(C) Ony axis (D) In IV quadrant

In figure - 1, value of x is :
(A) 20° (B) (C) 30°
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A proof is required for :

(A) Postulate (B) Axiom (C) Theorem (D) Definition

An exterior angle of a triangle is 80° and two interior opposite angles are equal. Measure of
each of these angle is :

(A) 120° (B) 40° (C) 100° (D) 60°

Which of the following is a rational number ?

(A) 1+3 (B)
-1

Simplified value of (16)7 X 416 is:

(A) 16 (B) 4

SECTION -B

Question numbers 11 to 18 carry 2 marks each.

P
Express 342 in the form of a where p and q are integers and q=0.

1 3
If x=2+ /3, then find the value of [x - ;) .

If 2x+3y=8 and xy=4 then find the value of 4x%+9y>.
OR
1 1
If x2+ x_2 =38, then find the value of (X - ;j .

In figure - 2, lines AB and CD intersect at O. If ZLAOD: #DOC = 4:5, then find ~COB.
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In figure - 3, if PQJRS, then find /SOR.
P

50°

/N
R S

Figure - 3

Plot the points (—2, 0) and (3, —4) in the coordinate plane.

In figure - 4, AABC and AABD are equilateral triangles. Find coordinates of points C and D.

Yy

N

]/1
Figure - 4

An isosceles triangle has perimeter 30 cm and each of the equal side is 12 cm. Find area of
the triangle.

SECTION-C

Question numbers 19 to 28 carry 3 marks each.

fﬂ— b hen find th 1 f db
I 7+4\/§—a+ \/§,t en find the value of a an .

OR

o 32 43
Simplify : -3 T+
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x—\/§+1an y—z_\/gten ind the value of x+y.

Represent /10 on the number line.

Find the value of x>+ —12xy+64 when x+y= —4.
OR

If x=2y+6 then find the value of x3—8y>—36xy—216.

Factorize : 8 a3—b3—12 a2 b+ 6ab?

Using suitable identity evaluate (42)3— (18)3— (24)3.

In figure - 5, if x : y = 3 : 7, then find the value of x, y, z and w.

Figure -5

Prove that sum of the exterior angles of a triangle is 360°.

In figure - 6, if AB=AD, Zx = Zw and £y = £z then prove that AP=AQ.

D
Q
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28. In an isosceles AABC with AB=AC, BD and CE are two medians. Prove that BD =CE.
OR

In figure - 7, if PS=PR, /TPS = ZQPR, then prove that TP =PQ.

T R Q

P
Figure - 7

SECTION-D
Question numbers 29 to 34 carry 4 marks each.
Prove that :
223+ 2y3 4+ 223 —6xyz=(x +y+2) [(x—y)?>+ (y—2)®+ (z— x)?] hence evaluate
2 (7)>+2(9°+2(13)3 - 6(7) (9) (13).

Using factor theorem show that x?+5x+6 is a factor of x*+5x3+9x2+15x +18.
OR

Prove that

(x+y+2) X [ (x—y)?+y—2)>%+(z—x)2]=2 (P +y>+23-3 xyz)

In figure - 8, AC=AE, AB=AD and /BAD = ZEAC show that BC=DE.

A ) E
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In figure - 9 show that 2 (AC+BD) > (AB+BC+CD+DA)
D C

A B
Figure -9

In figure - 10 if £x = £y and AB=AC, then prove that AD=AE.

Figure - 10

In figure - 11, two sides AB and BC and the median AM of AABC are respectively equal to
sides DE and EF and the median DN of ADEF. Prove that AABC ~ ADEF.

A D

C E

Figure - 11
OR

1
In figure - 12, PS is bisector of £ QPR and PT L QR. Show that £TPS = 5 (£Q — £R)

P
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U9 WEAT 1 | 10 9k Tk U9 1 3k AT gl

-9+ Y+ B,

3i2 C
(B)x+x3— ©)

X

I p (x) =2+2

3
+x2—%%‘1?ﬁp(—1)wtﬂ=f%:

(©

%TﬁWI?ET%:

(A) A=\/s(s+a)(s+b)(s+c)

B) A= s-as-Db(s~-0

(© A=\/s(s—a)(s—b)(s—c),s=a+b+C

(D) A=\/s(s—a)(s—b)(s—c),2s=a+ b+ ¢

fog (0,4) e
(A) JIHEgaiEd  (B) x AT W Q) y I W

AFA-1HxFAAT :
()\

(C) 30°

(A) 20° (B) 40°
4
15

2x
X
3ZI§|E"|—1
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frefafea o | fog =1 fag 3 AewEs gar e .

(A)  SAFTER (B) Al (C) wHH (D) R

Teh TS 1 SeihIvT 80° & T 3Hh 31a: STFUTE TR v seR T 1 31d: 1@ ol &1 A9 ¢
(A) 120° (B) 40° (C) 100° (D) 60°

frefafea # 9 o e s §2
(A) 1+.3 (B)

(16)%XWWWW%:

(A) 16 (B) 4

Qg -d

U9 HE&AT 11 W 18 Tk Uk W9 2 Ak T T

3_@ﬁ§%mﬁwﬁﬁqaﬁpamqquﬁ$%aﬂiq¢o%|

1 3
wﬁq’x=2+\/§€l?h(x—;] T | Aq T |

G 2 + 3y =8 AT xy=4 T A 4x2+9y2 T TH A HIFIC |

AYAT

'qﬁx2+i2=38@Fﬁ(X—lj 1 A 1A HISIT |
X X
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14. 3THfd 2 H W@T AB 9 CD foig O W wfa=sg &l €1 I LAOD: /DOC = 4:5 & A /,COB
HH 1 Ty |

I -2

15. 3Thfd -3, afC PQRS & @ ,SOR 1 HIM HId HIfSTT |

P Q
50°

0
/N
R S

HFHA -3

16. &dia ad | fogsti (-2, 0) a1 (3, —4) T ToH faeifa wifs

17. oT&fd ®, 9fc AABC @ AABD waTg fays &1 di foig C a8 D & fadwnss 9 sifs

A

(f a, o)/
' AY

\Vyl
AR - 4

18. U wufgarg fes 1 afkwm 30 ./, o1 I THE Sl ®f o 12 .. ¥ 1 e a1 &awa
1A ST |
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Qug - |9

U9 WEAT 19 § 28 Tk Uk U9 3 3ichl T T

5+ 23

m%"7+4\B

=a+b./3 B Tl adU b HE A FHISC

AT

32 43
AR T Jo + 2

ﬁx=%6my=%@aﬁx+yaﬂmmﬁm|

J10 1 e @ R fefua sifs |

I x+y= -4 @ 23+ —12xy + 64 T | F@ HIFST
At

Wﬁ‘{x=2y+6ﬁ Fﬁx3—8y3—36xy—2163h‘[ A 1A I |

8a3—b3—12a2 b+ 6ab? & UGS HITST |

ST HAHTHRT T TAN Hleh (42)3 — (18)3 — (24)3 T W T FITST |

Mpfa-5H, AGx:y =3: 7 W, y, 29 w H HAE 10 RIS

TH{d - 5

26. Tag FifS fe & B & sfeswivl =1 4m 360° BT €1
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27. AFd-6H, AT AB=AD, Lx = Zw 4 Ly = /z & @ fag =i fF AP= AQ.

HIFHA - 6

28. U WHfgaTg ST ABCH AB=AC | BD @1 CE fay &1 "ifegeptd &1 a1 g sifsre f BD = CE.
e
&M - 7 H, AT PS=PR A /TPS = QPR & @ &g ®ifvT TP =PQ.

R Q

P
PRI - 7

Q| ug -
Y9 WEAT 29 W 34 T U UIT 4 k! &7 &

29. fag =ifsw & .

263+ 213+ 228 —bxyz=(x +y +2) [(x—y)>+ (y—2)%>+ (z—x)?] A ST HeY wT GANTRT

2 (7)3+2(9) +2(13)3 = 6(7) (9) (13). T HH 1A IS |
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TUFEUE THT T TAN Hh <UD o 12+ 51 + 6 FGIE x4 + 523 + 9x2 + 151 + 18 T UHETS ¥ |
rerar

fag =ifse o

(x+y+z) X [ (x—y)?+y—2)%+(z—x)2]=2 (P +y>+23-3 xy2)

31. 3Hfd -8 W, AC=AE, AB=AD @9 /BAD = /EAC @ d &g ®ifslt BC=DE.

A

C

D
STTHfd - 8

32. THfd - 9 H, fag HINT fF 2 (AC+BD) > (AB+BC+CD+DA).

D C

A B

ST - 9

33. Pfa-10H, afs ZLx = Ly 991 AB=AC & o fag FifSu fF AD=AE.
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34. 3Mpfd- 11 H, T Y ABC %1 T ST AB 3R BC a1 HifeAsht AM %u¥: g8 T34 DEF &1
< DE 1R EF 99 71e7% DN % sW0R ¢, g9igd fh AABC =~ ADEF.

3Tfd - 12 H, PS 10T £ PQR &1 3Tg® a1 PTLQR ®1 fag ifsw 4TPS=% (£LQ - £R).

P
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